The curved surface area of one
of the two cones 1s double of the
other while the slant height of sec-
ond is double that of the first.
Whiat is the ratio of the padits of
try: second cone to that af the first
“one ? '
frr:3
Br4-1

21:4
{4) None of these

i Two equal glasses filled with mix-

ture of milk and water in the pro-
portons of 2 : 1 and 1771 re-
spretively are emptied into a third
¢lass. What ls the propartion of
miik and water inthe third glass ¢
a7 @HE:7
Ma4:7 H7:5

i The populatioh of a town s

10.000. 1f the males increase by
5% and the females by 8%, the
pepulation will be 10840, How

much females are thers?
(1) 3500 (214000
(21} 4500 (4) 2600

7. A eerlain number of men eom-

u]

—

pleted a plece of work in 60 days.
17 there were 8 men more the work

could be finished in 10days less. |
How ma:lymmol'hmﬂy'

there ?
1) 32 (2138
13 40 (4} None of these

. A1 a certain tate of Almple'mter-

sl a certain suim doubles (tsell
i 10 years, [t will treble itself in:
'1) 14 years  (2) 18 years
|3 18 years  (4) 20 years

. A sphere of radtus 2em s put into

water contalned o a cylinder of
radiug 4 cm. If the spheré ia com-
pletaly immersed inthgwater the
water level In thn qr]lndur risea

oy -
2 L1
gem (@) gqﬂ

3
(a1 7 cm M]lcm

5. The 1ax on m:llm# dimin- |

ished by 15%. urng-
fion increases by 1. The de-
rTease pareont Mt revenue
terived from bt 18 ; L
(11 77.5% * (2)6.5%
1323.7%  4) anea‘thue

1. A and B are fwp destinations A

var geoes from A to, B af average
speed of 64 kmﬂramlrﬁuml

4o at a slower speod. if toed- | 90 Marblftams i o o e

C+ coage wpeed for. the whele jour- | (1) Phajossieyock .- -

. neyie 66 b :mm . DAt o

o v .. {3) Metamorphic rock
_m""'ih"" o _(4) Sedimentary rock

: Iﬂl,ﬂ-?ﬁhM_ ,‘ " | 9. Which of the followihg city is not
(3) 48 Jan /br. 1 utmtudm:huhnkufnm
(440,78 kim/hr.” ool Genga? ) .

. Re. 3757 W10 o tumh * {1} Allshabed ) Varanst

. : & .lﬁm (4 Lucknow
!'H‘l- nmumumum
1) ai;“? [ O B 1
ll}mnum
(2) Gregor Mendel
b @ Lamarck '
tang ﬁwuﬁ-mmu
| - porteituated below the mean sea

. bungle | | Mevelisat:

" on theiside 112 mickren s 10 | (1) Antaterdsin (2) Colombo
t‘EH!J'IJ' 284 x.;‘;uu ' {S)Jeddsh = (4)HongKong
{313'1 Qm " 8.4 treatise on :

u&dhw& mmm
M;' {5

"““""""“a" vitp.One [ iyt iroy -
third ol whole uw Ile may be noml-
wwmm , _ %Pﬁiﬁtu{mtn

-.i:,hmh-m'.ma.- ¥ thumﬂu? -
tance travelled by traip was S 11 1R - T 3 _
(1) a20dam | (2) Ba0den ? mu "y 12 :

S @00k LS "‘Inhhamhmnmumm
]‘liﬂdﬂﬂthw 1 :

-.Atmmﬂzfuﬁuﬁm . mm
of wheat enables a WW méﬂmﬁ-mﬂmﬂm

_ 10,5 kg more for Re. 2 - ber' 000,

. ummmwu? RO o mtm
(RS2 /| (2)Re: 256" ) 28rd ' ()25th
BR.238 (WRe.240 | iﬁm*nwﬁi’

nﬁummuw‘bt - 1) Pabllo Picassc.
called : o | (2)Leonardo Da Vinci
[nm T " _:. .4 .l I w
WS dnumt ¢ Dravidian origin 7

[ﬂ'ﬂlﬂﬂ“ {4) Malayaiam

mmmm lhmmam

unﬁn.awmmﬁr 4 {1) Explolean. thhmunhm
- "‘““'"Y isused-| ;. i (9)Sterismation (4) None of these

Jor e produstigo ol . 99, Which o the Tolowing dose not
thPwer (g /0 geiverate emergy maide the body
(2) Aleohol - butarcatlcssential? -
b . (I)Fats - **  (2) Proteins "
ke % (9 Vitasting () Carbohydrates
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Indll ﬂﬂ#
Hih—l-hu Hﬂu-&n‘

(3) Alberuni  (4) None of these

101. WHWW
resent the sects of :

(1) Swetambar
(2) Jalnism

(3] Hinduism

(4) None of these

102. Which writer translated “Babar
Nama® into Persian language dur -
(1) Abul Fazal - ‘

(2) Patze
(3) Abdur-Rahim Khani Khanan
(4) None of these

103. World Champion Viswana-than
Anand. In November 2009, tamed
former World Champlon ___ to
win the rapid four-game chess
serfes In Ajaccio In France.

(1) Anatoly Karpov
(2] Bobby Simpson
13) Garry Kasparov
4) Vaselie lvanchuk

104. Gandhi suspended the non-coop-
cration movement because of :
(1) Differences between moder-

ates and extremists
(2) Violence at chaurl-chaura *
(3) Split in congress
(4) None of these :

108. The temperature generally tends
to decrease towards the pﬂu
because of :

(1 mmmmu
wards the equator. '

(2) The polar winds are cool

{3) The earth’s shape at poles-

(4 mldirﬂpflnﬂﬂtln‘m

108. Western Ghats are formed as a
resultof : ~
{1} Accumulation of rocks

(2) Eastwards  tilting of
perninsular

(3) Faulting of earth's crust
(4) None of these

107. Seasons are caused by
(1) Rotatiomof earth about its own

axis

(2 Wﬂﬁuulcim
3) Inclinumdmhmhaam
I4]I5h:pe§ﬂ|euﬂh

108, The main theme of “Green Revo-
lution” 1s :
- (1) Improved cultivation
(2) Use of fertilisers
(3) Use of pesticides
(4) Use of high yielding varieties
of seeds

108. Which country, in October 2009,
demanded the remains of Nobel
Peace laureate Mother Teresa and
King Ahmet Zog, to be returned
to the country?

(1) Denmark  (2) Ireland
(3) Sweden  (4) Albania

110. German silver is an alloy of :

(1) Silver, Copper & Aluminium
(2) Silver, Zinc and Copper

(3) Copper, Nickel and Silver
{4) Zine, Copper and Nickel
Directions (111-118) : [n the fol-

hﬁn;quuumaﬂndthemladnglel
ll‘l ab —ba — ba —
(1) bab [2) aba
(3] bbb (4] abb
112.abaa —aab —a—a
. (1) abaa {2) bbaa
(3) bab (4) aab
113.aa —b —abb — bb
(1} abaa (2} bbaa
{3) baaa {4) baba ,
114.a — ab — baa — bb —
- {1} baba (2)abab
118.abc — be —¢ — - n
(1) achbab ~ (2) aabbea

(3) asbach  (4) aababc

Directions (118-120) : Choose
the same relationship from given four
answer choices as given in original pair.
116. Teeth : Chew

(1) Eyes : Flicker

(2) Sweater : Heat

{3) Food : Taste

(4] Mind : Think
117. Train : Track

- [1) Fame : Television

{2) Water ; Boat

(3) Bullet : Barrel -

(4) Idea : Brain
118. Square : Cube

(1) Triangle : Prism

(2) Line : Cylinder

(3) Circle : Sphere

(4) Sphere : Earth

118. Bird : Wings

(1) Car : Wheel

(2) Pen : Paper

(3] Dog : Lungs

(4) Whale : Water
120. Liquor : Drink

(1) Water : Sip

{2) Bread : Butier

(3) Tea : Beverage

(4] Snufl : Inhale

Directions (121-125) : ¢
the odd one from the given
cholces.
121. (1) Loom : Cloth

[2) Table : Drawer

(3} Book : Page

(4) Car : Wheel
123. (1) Meeting : Chairman

(2) Tomato : Potato

(3) Army : General

(4) Crache : Infant
123. (1) Mango : Fruit

(2} Boy : Girl

(3) Shirt : Dress

(4) Table : Fumniture

124. (1) White (2] Blue

(3) Green (4] Yellow
1286. (1) Book (2] Pen

(3) Pencil {4) Ink

Directions (126-130) : «
the most suitable diagram for o
The diagrams are :

n @ [21@
N
] m@@j

126. Dog. cat, animal

127, Sister mother, women

128. Town, state, couniry

128. Rhombus, quadrilaterals,
gons

130. English, Hindi, Language
Directions (131-138) : The o

figure reprédents a multiplication

eration, where each alphabet re

sents a différent number.

WC.o U A

|

Jg
Foos

iy

wls ol x
wlr @
wlm el 3



191 What is the value of A ?

(o 23
(52 44
132, What s the value of D ?
' o 2)2
14 4 4)5
133. What is the value of B ?
mna 21
) 2 4)6
134, What is the value of AB + CD -
BL ?
(1] 75 (2)86
{1 84 - (4)88
135, What is the value of C 7
1 (214
(i 416
Directions (136-140) : Pick out
the most effective word(s) [rom the
sivent words to fill n the blanks to make

ihe sentence meaningfully complete.

136. A women came in with a hahy

who, she sald ....... a safety pin.
11] was just swallowing
12] Swallowed
13] had just swallowed
14} just swallowed
137. The telephone .......
fore 1 answered It
(1} was ringing
(2} has rung
(.3 had rung
i4) would ring
138. An employment advertisement
should ... the number of vacan-
e,
(1) provide
(2] specify
(4] contain
(4} declare
. A crescendo of m:ta.lljc thuds
arose from the market, where the
iron-smiths were ... the pieces
of metals;
{1} Nattening
12) striking
i3 nammering
14} thrashing o
140. Ambition is one of {hoea ..., which
are never satisfied.. .

several be-

(1) tdens 11 [2)fincles
72 prantbrks IHM'\‘E
mh‘éﬂﬂﬁi’ 141 'In ques-

s Civen below out'of{ e T6ur alter -
uuu-wchwnel.heomwh can be
1 t1l1|if'd for the ghrél'imfﬂsfm

lende”

141. Something that relates to every-

one in the world ;

(1) General (2} Common

(3) Usual {4) Universal
142, An expression of mild disap-

proval : p

{1) Warning

{2} Denigration

(3) Impertinence

4] Reproof
148, One who is not easily pleased hy
- anything e

(1} Maiden (2) Mediaeval

(3) Precarious (4) Fastidious
144. Murder of a king '

(1) Infanticide (2) Matricide

(3) Genocide (4) Regiclde
148. A remedy lor all discases

(1) Stole ~ (2)Marvel

(3) Panacea  [4) Recompenae

Directions (146-180) : In follow-

ing questions four aernatives are given |

for the idiom / phrase In bold in the sen-

tence. Choose the alterative which best

expresaes the nieaning of the Idom/
phraze ?

148. How long will the people put up
with the increasing mnomic
hardships ?

(1) Welcome .

(2) Take easily

(3] Remaln-satiafied with
{4) Tolerate _

147. Do not trust a man who blows
his own trumpet. ;
(1) Flatters
[2) Praises others
{3) Admonishes other
{4) Prajses himself’

148, The dacolt murdered the man in
cold blood.

(1) Coldly  (2) Boldly
{3) Ruthlesaly (4) Deliberately

148. mwhhdw:mmwttw
mﬂwmﬂﬁn ®
(1) Stopped
(2) Met with an accident
(3] Ran out of petrol
{4) Failed towork

lm.meuxmhrum!lgwt yuumult
look'sharp. |
(1) Be careful
(2) Make haste
{(3) Be punctual
{4) Be sensible

== ANSWERS =

Wyl osml 3| 4.2
B2} & 74| s
Tom| 108 | 1| 12 |
13.04) | 1401 1803 | 16.04)

“17.@) | 183 | 1940 209 |
2002 | '22.03) | 29.31 | 24.(1)

o a6l 26010 27| 26803
829.(4) |- 3017 | 3013 | 3202

(®as.n| sen| s8] 360
37.3)| 38.2) | 39.4)| 4014
AL | 42.3) | 482 | 44l
45.(2) | 46.3) | 47.4)| 48.01)
490.2)§ so.(1y| B1.[3)| 52.04)
83.2) | 84.01) | 85.2) | 58.(3)
B7.3) B8.1) ] 68.(1) | 60.(1)
81.(4)§ 62.(1)| 63.12)| 64.(3)
85.2) | 86.(1) | 67.(2)| 68.13)
80.(4) | 70.2) | TLi4)| 723
73.1)| 742 | 78.4)| 76.(2)
77.03) | 78.4) | 78.(1)| BO.[2)
BLi4) | 82.2) | 83.4)| 8404
8.1 | se.44)| s7.0)] s8.iD)
89.(1)| 90.(4) 91.(2) | 92.(1)

.4 941 | 88| 96.(2)
97.(3) | 98.2) | 99.(3)|100.(1)
101.(2) | 102.{3) | 104.(1) lD:-E]m
108.(4) | L06.(3) | 107.(2) | 108.i4)
106,41 120.(4) | 110.04) [112.(3)
1133} | 114.12) | 115.(4) [118.14)
117.9) | 1181] | 119.0) [ 12003
121.1) lgﬂ.fi}l 123.(2) | 124.71)
126.(4) | 136.(4) | 127.(3) | 128.(2)
138.(2) | 130.(4) | 131.13) 132.!1]
133.(2) | 194.(3) | 136.(3) | 196.(3)
137.(3) | 138.(2) | 138.(3) | 140.(3]
14L.(4) | 142.(4)-| 143.(4) ] 144.(4)

146.(3) | 146.(4) | 147.(4] | 148.(3)
140.(1) § 180.(2)




